

Young Womens Guild Crab Cake Luncheon &
Supper - June 7, 1991

Luncheon 11:30 - 1 p. m.

Supper 4:00 - 7 p. m.

Luncheon - 41 persons

55 Carryouts

Dinner - 116 persons

61 Carryouts

273 total tickets

Weather - Clear, sunny
80° degrees

Income

Deposited	\$ 2675.62
Sale - Crab Cakes, (Gower)	64.00
" " " (Jones)	17.00
" " " (Tallegen)	17.00
" " " (Strong)	6.00
Donation - R. Beckwith	15.00
2 tickets - Ida Jefferson	15.00
2 " Mrs. Rossmark	15.00
Profit - (Circular)	62.50
	<u>\$ 2877.12</u>

Expenses

Grass - Fair - Misc purchases	\$ 392.76
M. Gotta - Salary	57.75
Wendell - Misc	46.50

Expenses, continued:-

Lisa Ann Seafood	895.30
J Tallagen, Vegetables, bread	52.04
National Beef Procs Co	195.32
Print tickets	10.00
Total expenses	<u>\$ 1697.32</u>

Total income	\$ 2,877.12
" expenses	<u>1697.32</u>
Net profit	\$ 1,179.80

Memo :- (Included in large deposit

Tips	\$ 64.50
Party new table	81.92
Pies	113.45
Donation Mrs Hanan	\$ 20.00
" Lisa Ann Seafood	5.00

Respectfully submitted
Graig J. Fader
Treasurer

1
 Expenses: Fish & Seafood
 June 7, 1991

National Beef & Provisions Co

\$1,95.32

8 lb. beef bones	39	\$4.29
10 lb. short ribs	2.59	51.28
15 lb. bacon ends	89	17.80
5 cans cut string beans	20.50	102.50
1 can white bean soup		5.95
1 can mayonnaise		13.50

Fish & Seafood

895.30

112 1 lb cans special	\$5.90	660.80
38 1 lb claw	\$5.25	199.50
1 bushel female crabs		35.00

M. Gotti Bakery

57.75

25 white bread		12.75
25 rye bread		12.75
6 doz buns	3.75 each	22.50
3 Bread		2.25

Michelle's Pies

96.15

2 Blueberry	\$4.45	8.90
3 Apples	3.55	10.65
2 Peach	4.45	8.90
10 Coo. Lusterd	3.45	34.50
6 Lemon Meringue	3.55	21.30
2 Goulash	3.55	7.10
4 Boxes	.70	2.80

Jim Tallagen

52.04

12 doz eggs	95	11.00
5 bags carrots		5.00
8 bunches celery		4.75
20 Green peppers		5.00
10 lb sweet onions		8.62
20 Stale bread		7.80
10 tomatoes		4.00
1 lettuce		1.50

Continued

Santonic (G. Fader)

5 157.28

- Sw sales slip attached
75 lb sugar - 5 lb bags
1 large figer coffee
3 Old Bay seasoning
3 cans pepper
6 evaporated milk
6 boxes barley
8 large cans tomatoes
8 " tomato sauce
2 quart mustard
2 paper towels
8 1 lb bags frozen peas
8 " " cut string beans
8 " " corn
8 " " lima beans
5 3 lb cans Quisco
Parsley (.3.92)
1 large Potato chips
3 lb oleo margarine
4 lb butter
3 Morton salt
100 tea bags
6 fresh tomatoes

6 canned tea 299

17.94

Acad Paper Co. (Grace)

- 1 case plastic plates
500 styro cups
1 pkg napkins
500 soap bowls
12 2 qt containers
12 " lids
2 boxes Sakka decaf. coffee
(paschita)

figures to difficult
to understand

105.00

Tom's Produce (Graw)	80.00
4 50lb bags potatoes	
4 cwt green cabbage	
2 boxes plastic bags (Graw)	4.10
Lunch - Thursday (Graw)	11.22
Lunch - Friday (Graw)	15.42
To Print tickets	10.00
	<hr/>
Total expenses	^B 1697.32

Young Womens Guild
Sea Mart

May 18, 1991

Profit	631.70
Items sold later	28.92
Net profit	<u>\$ 660.62</u>

Respectfully submitted
Grace E. Fader
treasurer

M. E. Jarquet - 6/5/0.

Money turned in on M. E. Jarquet's bill	1293.50
Boosters & Eds (Bushman)	176.00
Sale of food	29.00
	<hr/>
	1498.50

Spencer	6.54
National Bldg Co	407.27
Place Mats	7.70
Atlas Paper Co	73.94
Tutti Frutti Ice Cream	61.40
Tutti Bakery	39.60
Santonio	100.00
Trinidad (Strawberry)	36.00
Tomatoes	1.49
Milly childrens face paint, Markers etc	35.00
Lucas Trees & Wind	34.78
Dundas Florist	165.30
	<hr/>
	974.38
profit	\$ 524.12
To print business etc.	- 18.96
	<hr/>
Net profit	\$ 505.16

Respectfully submitted
G. E. Jarquet
treasurer

Mother Daughter Banquet

May 8, 1991

Food Needed

National Beef Co

8 fresh hams, bones removed, hock end cut
off & ham put in mesh bag

3 lb spare ribs

8 No 10 white corn

7 No 10 sauer kraut

4 cans applesauce No 10

8 No 10 fruit cocktail (do not sell)

1 case, 6/5 ct cans instant potatoes

Marty

200 place mats

Atlas Supply Co.

500 plain 9" plastic plates

500 6" plastic plates

1000 8 oz cups

500 4 oz cups

500 folded dinner napkins

Jen Tailor

36 pts strawberries

Marty Craig

8 gallons vanilla ice cream
256 slices

Elizabeth M. Gille

21 doz dinner rolls

Flowers purchased from Dandain Florist

Grave

- 5 lb dinner mints
- 10 lb oleomargarine
- 5 lb roast beef
- 2 Lipton onion soup
- 3 lb onions
- 1 large folger coffee
- 100 tea bags
- 5 pork gravy
- 4 cans Lipton ice tea
- 36 large cans fruit cocktail

M/D Banquet - 5/8/91

Money turned in on M/D tickets (Rish)	1293.50
Boosters + Gds (Cushman)	176.00
Sale of food	29.00
	<hr/>
	1498.50

Expenses

	652	
National Beef Co	407.27	
Place mats	7.70	
Atlas Paper Co	73.94	
Tutti Frutti Ice Cream	61.40	
Getti Bakery	39.60	
Santonis	106.90	
Fruitland (Strawberries)	36.00	
Tomatoes	1.49	
Merly childrens favors, paints, markers, etc.	35.00	
French Trees + Wed.	39.78	
Deendak Florist	165.90	
	<hr/>	
	974.38	974.38
profit		\$ 524.12
To print brochures, etc.		- 18.96
Net profit		<hr/>
		\$ 505.16

Respectfully submitted
Graz E Jader
treasurer

Mochee Daughter Banquet

May 8, 1991

Food Needed

National Beef Co

8 fresh hams, bones removed, hock end cut
off & ham put in mesh bag

3 lb spare ribs

8 No 10 white corn

7 No 10 sauer kraut

4 cans applesauce No 10

8 No 10 fruit cocktail (do not seal)

1 case, 6 1/2 lb cans instant potatoes

Marty

200 place mats

Atlas Supply Co.

500 plain 9" plastic plates

500 6" plastic plates

1000 8 oz cups

500 4 oz cups

500 folded dinner napkins

Jim Tallgren

36 pts strawberries

Marty Craig

8 gallons vanilla ice cream
256 slices

Elizabeth M. Gotti

21 doz dinner rolls

Flowers purchased from Dundalk Florist

Grave

- 5 lb dinner mints
- 10 lb oleomargarine
- 5 lb roast beef
- 2 Lipton onion soup
- 3 lb onions
- 1 large folger coffee
- 100 tea bags
- 5 pork gravy
- 4 cans Lipton ice tea
- 36 large cans fruit cocktail

Young Womens Guild
Flea Mart

May 18, 1991

Profit	631.70
Items sold later	28.92
Net profit	<u>\$ 660.62</u>

Respectfully submitted
Grove E. Fader
treasurer

Young Womens Guild Crab Cake Luncheon &
Supper - June 7, 1991

Luncheon 11:30 - 1 p.m.

Supper 4:00 - 7 p.m.

Luncheon - 41 persons

55 Carryouts

Dinner - 116 persons

61 Carryouts

273 total tickets

Weather - Clear, sunny
80° degrees

Income

Deposited	\$ 2675.62
Sale - Crab Cakes, (Gauer)	64.00
" " " (Jones)	17.00
" " " (Tallegren)	17.00
" " " (Strong)	6.00
Donation - R. Beckwith	15.00
2 tickets - Ida Jefferson	15.00
2 " Mrs. Rossmark	15.00
Profit - Creellers	62.50
	<u>\$ 2,877.12</u>

Expenses

Grace Fader - Misc purchases	\$ 390.76
M. Gotti Bakery	57.75
Michelis Pies	96.15

Expenses, continued:-

Lisa Ann Seafood	895.30
J Tallagen, Vegetables & bread	52.04
National Beef Proov. Co	195.32
Print tickets	10.00
Total expenses	<u>\$ 1697.32</u>

Total income	\$ 2,877.12
" expenses	<u>1697.32</u>
Net profit	\$ 1,179.80

Memo :- (Included in large deposit.

Tips \$ 64.50

Ready made table 81.92

Pies 113.45

Donation - Mrs Kanan \$ 20.00

" Lisa Ann Seafood 5.00

Respectfully submitted
Grace J. Fader
Treasurer

1

Purchases. Crab Cake Supper,
June 7, 1991

National Beef & Provision Co		\$1,95.32
8 lb. beef bones .39	\$4.29	
10 lb. short ribs 2.59	51.28	
15 lb. bacon ends .89	17.80	
5 cases cut string beans 20.50	102.50	
1 case white benzos	5.95	
1 case mayonnaise	13.50	

Lisa Ann Seafood		895.30
112 1lb cans special \$5.90	660.80	
38 1lb. claw \$5.25	199.50	
1 bushel female crabs	35.00	

M. Gotti Bakery		57.75
25 white bread	18.75	
25 rye bread	18.75	
6 doz buns ^{3 Thurs.} _{3 Friday}	18.00	
3 Bread	2.25	

Michele's Pies		96.15
2 Blueberry \$4.45	8.90	
3 Apples 3.55	10.65	
2 Peach 4.45	8.90	
10 Coo. Custard 3.85	38.50	
6 Lemon Meringue 3.55	21.30	
2 Chocolate " 3.55	7.10	
4 Boxes .70	80	

Jim Talloren		52.04
12 doz ^{gal. milk} eggs .95	11.00	
5 bags carrots	5.00	
8 bunches celery	4.75	
20 Green peppers	5.00	
10 lb sweet onions	8.62	
20 stale bread	7.80	
10 tomatoes	4.09	
1 lettuce	1.59	

Continued

Santonis (G. Fader)

\$ 157.08

See sales slip attached
75 lb sugar. 5 lb bags
1 large Folger's coffee
3 Old Bay seasoning
3 cans pepper
6 evaporated milk
6 boxes barley
8 large cans tomatoes
8 " tomato sauce
2 quart mustard
2 paper towels
8 1 lb bags frozen peas
8 " " cut string beans
8 " " corn
8 " " lima beans
5 3 lb cans Quesco
Parsley (.3.92)
1 large potato chips
3 lb oleomargarine
4 lb butter
3 Morton salt
100 tea bags
6 fresh tomatoes

~~discount \$ 8.00~~
~~already subtracted~~

6 cans iced tea 199

17.94

Atlas Paper Co. (Grace)

105.00

1 case plastic plates
500 styro cups
1 pkg. napkins
500 soup bowls
12 2 qt containers
12 " " lids
2 boxes Sakka decaf. coffee
(packages)

figures to difficult
to understand

Toms Produce (grow)	80.00
4 50lb bags potatoes	
4 crt green cabbage	
2 boxes plastic bags (grow)	4.10
Lunch - Thursday (Grow)	11.22
Lunch - Friday (Grow)	15.42
To Print tickets	10.00
Total expenses	\$ 1697.32

Summary

Income	\$ 5879.62
Expenses	-1697.32
Net profit	\$ 4182.30
	-2.50
Net profit	\$ 4179.80

Donut profit was \$62.50
instead of \$65.00

Respectfully submitted

MARS SUPERMARKET

Bill to: United Evangelical Church
3200 Dillon Street
Baltimore, Md. 21224

cut up sheets

Contact person: Mrs. Millie Slechta

Office phone: 276-0393 (9 a.m. to 3:00 p.m.)
Home phone: 675-5906 Mrs. Fader

Delivery on or before February 11, 1992

Please phone when ready for pickup.

-
- 7 cases white Vinegar (Eagle Brand)
 - 40 5lb. bags Domino Sugar
 - 78 boxes NABISCO Ginger snaps (no substitutes)
 - 60 cans Evaporated milk
 - 5 small bottles King syrup
 - 40 5lb. bags Gold Medal flour
 - 10 lb. Oleomargine
 - 12 cases SEASIDE Butter Beans

National Beef Co

650 lb flats

1 case mayonnaise

2 cans No 10 Cut Stringbeans

1 can Oleo Cups

ordered

JAMES TALLAGSEN:-

3 large bags thin cut noodles

5 jars Folger Coffe (large size)

4 packs Sanka decal. foffee

22 dozen Eggs

15 loaves stale Bread

100 paper plates (9 in.)

1 gallon sweet sliced pickles

4 large cans tomato sauce (no Italian brand)

4 large cans whole tomatoes (no Italian brand)

8 large Instant Iced tea

100 Teabags

1 pack (jar) boullion cubes

*1 case sweet & lo
1 case sugar packets*

ART JONES:-

Feb. 12 (Friday - 3 lb. cold cuts
Bread
2 doz. buns

Feb. 13 (Saturday) 7 lb. cold cuts
Bread
3 doz. buns

Feb. 15 - Monday - 3 lb. cold cuts (?)
Bread
3 doz. buns

Feb. 16 - Tuesday - 4 lb. cold cuts
Bread
4 doz. Buns

Feb. 17 - Wednesday - 3 lb. cold cuts
Bread
3 doz. Buns

10 yards Cheeseclothe

ROBERT JACKSON:-

13 bags Potatoes (50lb. each)

20 lb. Onions

6 bunches Carrots

3 bunches Celery

6 crates Cabbage

1 bunch parsley

24 Green Peppers

8 fresh tomatoes

1 lettuce